Battle of Hannut  - Scenario Report.

Battle was fought in June 2006 between Roger and David C on one side (the French) and Stephen and David C on the other side (German). Dave K was umpire.

As the objective was Gembloux, set far back from the front (mistake by Dave K), the French deployed deep to the rear.

The 4th Panzer Division, commanded by David H made most of the running. As the French were so far back, the 3rd Panzer division, Commanded by Stephen, did little more than a few long range recces.

The scenario was 2 days long, each 4 turns.

On the first day, the 4th Panzer advanced and took Hannut, the French 2e DLM division (Roger) withdrawing rather than face battle. On the 2nd day, battle was forced by a rather innocuous German Recce. The French threw some units in to bolster their recce, and the Germans replied in kind, until most of the 4th Panzer and  and 2e DLM were committed. The battle strongly favoured the Germans, who had far superior supporting arm. The resulting rolls were even more skewed in the German’s favour, including a dramatic Stuka attack that broke the back of a Somua battalion.

Later in the day, elements of 3e DLM moved in to join the attack, which was more even this time round.

At the end of the scenario, the Germans had penetrated to within 15km of Gembloux and broken the back of the 2e DLM. The 3e DLM had very light casualties, the 4th Panzer somewhat more. The 3rd Panzer had not been engaged at all.

Reflections: The value of air power was demonstrated in dramatic fashion, and it was felt that the French should have co-ordinated their two DLM divisions better on the 4th Panzer. It was generally agreed that the objective was too far back, as this gave the French no motive to halt the Panzers further forward.
